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Making scheme module 2 paper 1 

No.  Solution  Marks 

1.    
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2.  = 9𝑥 . 91 − 9𝑥 

= 9𝑥(9 − 1) 
= 9𝑥(8) 

 

1 

1 

3. (a) 𝑏 =
𝑎

4
 

1 

(b) 
Equation 𝐴𝐵: 𝑦 =

1

4
𝑥 + 4 

1

4
𝑥 + 4 = −4𝑥 − 1 

𝑥 = −
20

17
 

𝑦 =
63

17
 

𝐶 = (−
20

17
,
63

17
) 

 

 

1 

 

 

 

 

 

1 

 

4.  (𝑥 − 40)2 + (𝑦 − 75)2 = 1002 

𝑥2 − 80𝑥 + 1600 + 𝑦2 − 150𝑦 + 5625 − 10000 = 0 

𝑥2 + 𝑦2 − 80𝑥 − 150𝑦 − 2775 = 0 
 

Substitute 𝑦 = 25𝑥 + 90 into eq. of locus: 
 

𝑥2 + (25𝑥 + 90)2 − 80𝑥 − 150(25𝑥 + 90) − 2775 = 0 

𝑥2 + 625𝑥2 + 4500𝑥 + 8100 − 80𝑥 − 3750𝑥 − 13500 − 2775 = 0 

626𝑥2 + 670𝑥 − 8175 = 0 
 

𝐷𝑖𝑠𝑐𝑟𝑖𝑚𝑖𝑛𝑎𝑛𝑡 = 6702 − 4(626)(−8175) = 20 919 100 (> 0)  

It is not suitable because the fence will intersect Motorway YZ at 

two points/location. 
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5.  
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6.  

 
1, 1 

 
1 

Papaya is less consistent because the variance is higher compared 

to Team Orange. 

1 

7. (a) 

 

 

 

 

 

 

(b) 

persamaan 𝑦√𝑥 = 4 −
𝑥

4
 

−6 = 4 −
𝑞

4
 

𝑞

4
= 10 

𝑞 = 40 
 

16

4

1
40





x

x
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8. (a) 𝑑𝑦

𝑑𝑥
= 3𝑥 −2 

0 = 3(𝑞) −2 

𝑞 =
2

3
 

 

𝑦 = ∫(3𝑥 − 2)𝑑𝑥 

𝑦 = 3𝑥2 − 2𝑥 + 𝑐 
(4) = 3(1)2 − 2(1) + 𝑐 

𝑐 = 3 

𝑦 = 3𝑥2 − 2𝑥 + 3 
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1 
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9. (a) 

 

 

 

(b) 

∫ 𝑓(𝑥)
2

5

𝑑𝑥 = 9 

 

∫ (𝑓(𝑥) + 4𝑥
5

2

)𝑑𝑥 

= ∫ 𝑓(𝑥)𝑑𝑥 + ∫ (4𝑥
5

2

5

2

)𝑑𝑥 

= (−9) + 2(𝑥2)2
5 

= −9 + 2(25 − 4) 

= 33 

1 

 

 

 

 

 

 

 

1 

1 

10.  1

4
𝜋( 5𝑘)2      or       

1

2
(5√2𝑘)2(

𝜋

4
) 

A= 
1

2
(12𝑘 + 17𝑘)(5𝑘) −

1

4
𝜋( 5𝑘)2 −

1

2
(5√2𝑘)2(

𝜋

4
) 

   

 = 72.5𝑘2  -12.5𝜋𝑘2 

1 

 

1 

1 
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11. (a) 

 

 

(b) 

Side of square = 100 –x  

𝐴 =
1

4
𝑥2 + (

100 − 𝑥

2
)(

100 − 𝑥

2
) 

= 
1

2
𝑥2 + 2500 − 50 𝑥  

𝑑𝐴

𝑑𝑥
= 𝑥 − 50 = 0 

x = 50  

 

1 

 

1 

1 

1 

12.  𝑙 = 7𝑎 

9

2
(𝑎 + 7𝑎) = 72 

𝑎 = 2 

𝑎 + 8𝑑 = 14 

𝑑 =
3

2
 

 

 

1 

 

1 

1 

1 

13.  [(x + ( 2 - 2 + s2 ] 

[(x + (- 4)2 – (- 4)2 + s2 ] 

(x – 4)2 – 16 + s2 

- 16 + s2 = 20 

s2 = 36 
s = −6, 6 

 

 

1 
1 

 

1 

14. (a) 

 

 

 

 

 

 

 

 

 

 

(b) 

y= - 2x2 + 6x – 8 

= - 2 [x2 – 3x + 4] 

= - 2 [ x2 + 2 - 2 + 4 ] 

= - 2 [(x - )2 – (  + 4 ] 

= - 2 (x - )2 -  

a (x + p)2 + q 

x -  = 0            q = y 

x =                  y = -  

(  , - ) 

eq. of axis of symmetry, 

x = p =  

x =  

x=                   
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15  

529
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16.  (a) 

 

 

 

(b) 

1

2

13






x

x
x

 

 
 

4

7

4
2

1)72(3






m

m
m

 

 
 

 

 

1 
 

 

 
1 

 

 
1 

17.   

x2 + kx + 9 – x= 0 

 x2 + (k-1)x + 9 = 0 

a = 1   b = k-1  c = 9 

b2-4ac = 0 
 (k-1)2 – 4(1)(9) = 0 
  (k-1)2 – 36 = 0 
  (k-1)2 = 36  
 k-1 = -6          k-1 = 6           

k = 7                k= -5      (both)    
 

 

1 

 

 

1 

 

 

 

 

1 
 

18. (a) 

 

(b) 

 

 

 

(c) 

2x2 – 14x – 9 = 0 

 

POR = -9/2 

 

(-14)2 – 4(2)(-9)  

 

268>0 

 

Two Distinct Roots 

 

1 

 

1 

 

 

1 

 

 

1 

19.  
𝑛(𝑝𝑙𝑎𝑦 𝑏𝑜𝑡ℎ) =  

25

100
 × 40 = 10 

 

 𝑃(𝑉𝑖𝑜𝑙𝑖𝑛 𝑜𝑟 𝑃𝑖𝑎𝑛𝑜 𝑜𝑛𝑙𝑦) =
15

40
+ 

9

40
 

                                            =
24

40
 

                                            = 
3

5
 

𝑃(𝑑𝑜 𝑛𝑜𝑡 𝑝𝑙𝑎𝑦 𝑎𝑛𝑦 𝑚𝑢𝑠𝑖𝑐𝑎𝑙 𝑖𝑛𝑠𝑡𝑟𝑢𝑚𝑒𝑛𝑡) =
6

40
 

 

                                                                      = 
3

20
 

 

1 

 

 

1 

 

 

 

1 
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20.  0.5 − 0.3485 = 0.1515 

𝑚 = −1.03 
 

−1.03 =  
𝑋 − 78 

3
 

𝑋 = 74.91 
 

 

1 

 

1 

1 

 

21 (a) 

 

 

 

 

 

(b) 

𝑃(𝑋 < 1) + 𝑃(𝑋 = 3) 

= 𝑃(𝑋 = 0 ) + 𝑃(𝑋 = 3) 

= 1 − 𝑃(𝑋 = 1) − 𝑃(𝑋 = 2) 
= 1 − 𝑏 − 𝑎 
 

𝑃(𝑋 = 3) =  
64

729
 

3C3(k)3(1 -k)0 =
64

729
 

𝑘3 =  (
4

9
)
3

 

𝑘 =  
4

9
 

 

 

 

 

1 

 

 

 

1 

 

 

 

1 

22 

 

 

 𝐾𝑀⃗⃗⃗⃗⃗⃗  ⃗ = 𝐾𝐿⃗⃗⃗⃗  ⃗ + 𝐿𝑀⃗⃗⃗⃗⃗⃗  

= 𝐾𝐿⃗⃗⃗⃗  ⃗ + 𝐾𝑂⃗⃗⃗⃗⃗⃗  

= (
−6
3

)+ (
−3
−4

) 

= (
−9
−1

)  𝑜𝑟 − 9𝑖 − 𝑗 

1 

 

1 

 

1 

23 

 

 

 

0000 150,30;90,90

2

1
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24 (a) 

(b) 

3304

11 c  

150

2

5

2

6


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1 

1 
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25  𝑇𝑛+1 = 𝑆𝑛+1 − 𝑆𝑛  

         = log𝑥 𝑦(𝑛+1)2 − log𝑥 𝑦𝑛2
 

         = 𝑙𝑜𝑔𝑥(
𝑦𝑛2+2𝑛+1

𝑦𝑛2 ) 

         = log𝑥 𝑦𝑛2+2𝑛+1−𝑛2
 

         = log𝑥 𝑦2𝑛+1 

 

1 

 

1 

 

1 

 


